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24. Which of the following options has

the correct passive voice form of the

following sentence ?

‘Lock up that house.’

(a) Let that house be locking up by

ou.

(b) {et that house locked up by you.

(c) Let that house be locked up.

(d) Let that house being locked up.
25. Which of these words is wrongly spelt ?
(a) ambition (b) institution
(c) collection (d) transmition «
26. Fill in the blank in the given sentence
by choosing the correct option.
No sooner did she arrive they
started laughing.
(a) thane.
(c) then

(b) when
(d) that

27. Choose the correct indirect speech of

the given sentence.
The doctor said to me, “Take this
medicine twice a day”.
(a) The doctor told me that I should
take that medicine twice a day.
(b) The doctor said to me that I would
eat that medicine twice a day.
(c) The doctor asked me that I should
take that medicine two times a
day.
(d) The doctor advised me to take that
medicine twice a day. »
28. Choose the appropriate meaning of the
phrase “put up with”,
(a) tolerate «
(b) put on a high place
(c) put clothes on
(d) keep safe

Instruction for Question Nos. 29 to 32 ;

Read the following passage carefully and
answer the following questions that follow :

When | go into a stranger’s personal
library, I wander round the bookshelves to
learn what sort of person the stranger is and
When he comes in, I feel that I know the key
to his mind and the range of his interests. A
house without books is a characterless house,
no matter how rich its owner is. The rich

A
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decoration of the drawing room and bedroom
and the luxurious bathrooms tells us that the
man is wealthy but the books tell you whether
he has got a mind as well. It is not a question
of money that we do not buy good books or
maintain a library of good books. I repeat
that the books are the cheapest and the best
part of the equipment of a few dollars. Nearly
all the best literature in the world is at your
command at two dollars a volume. For 100
dollars you can get a library of fifty books.
Even if you do not read them yourself, they are
a priceless investment for your children. What
delight is there like the revelation of books
- the sudden impact of a master-spirit, the
sense of a window flung open to the universe ?
It is the adventure of the mind, the joy of which
does not pass away, that gives the adventure
of life itself beauty and fragrance.

29. Books are important for
(a) the person only, who buys them
(b) the coming generation
(c) the buyer and his next generation®»
(d) all citizens

30. What delight does a good book provide ?

(a) It tells about the character of its
owner

(b) It helps the owner earn a lot of
money

(c) It opens the window to the
universe

(d) It is a great treasure of wealth

31. How can we command the best of world

literature ?

(a) By establishing a huge library in
our city

(b) By purchasing a volume pricing «
two dollars only

(c) B ﬁurchasing all the good books

of the world

(d) By downloadin

the pdf of th
books of the wg FRECEESe Rt

orld

32. The compound word ‘master-
the passage means

(a) a master of spirits

(b) the spiritual effect of a master
(c) the controller of men

(d) the controlling spirit

spirit’ in
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33. In order to satisfy the psychological

34.

35.

36.

needs of competence, relatedness and
autonomy, an effective repertoire of
which skills are necessary ?

(a) repetitive skills

(b) aggressive skills

(c) precision skills

(d) interpersonal skills

Assertion (A) : Moon cannot be used as
a satellite for communication.

Reason (R) : Moon does not move in the
equatorial plane of the earth.

Choose your answer from the options
given below.

(a) Both (A) and (R) are true and (R) is

the correct explanation of (A)
(b) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

Which one of the following is NOT a
number of the series ?

1, 8,27, 64, 125, . . .
(a) 256 ¢ (b) 512
(c) 729 (d) 1000

The optimal way for effective problem

solving is

(@) to balance distinctiveness and
processing

(b) to balance conventional and
non-conventional thinking

(c) to balance egocentrism and biases

(d) to balance assumption and
inference

33.

34.

35.

36.
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37. Which of the following character placed

38.

39.

40.

at the sign of question mark (?) to
complete the matrix ?

4C | 2B
28B | ?
7B

3A
45B

SA | 15C

(@) 7C
(b) 10C «
(c) 12C
(d) 13C

The objective of decision making
should be

(a) To make the correct choice

(b) To make the best choice «

(c) To make the risky choice

(d) To make the reinforced choice

The minimum number of colours
required to paint all faces of a cube,

that no two adjacent faces may have the
same colour, is

(@) 1
(b) 2
) 3 s
(d) 6

What approximate percentage of
individual’s working hours is engaged
in interpersonal communication ?

(a) 80 - 90%

(b) 60 - 70%

(c) 100%

(d) 40 - 50%

39.

40,
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37. w@ fg (7) ¥ wm W frefafad § 4 w1
et Afyaq o QU war § 7
4c | 2B | 3A
28B | ? |45B
7B | 5A | 15C
(a) 7C
(b) 10C
(c) 12C
(d) 13C

38. fivia &% =1 3w B =i

(a) Gal Tasheq =1 fyfo

(b) TS fareheq =1 fgtor
(c) SRaw R faereq =01 fauto
(d) wafera fersreq =51 futo

ot = & wft Soehl M TR A e eq ¥
%Q%%——é’fa‘rﬁaqmﬁ%%nmqa,m
A 0 fre Tt A smavrEar 2 7

() 1

(b) 2

(c) 3

(d) 6

(a) 80 - 90%
(b) 60 - 70%
(c) 100%

(d) 40 - 50%
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43.

44,

45,

Controversy always involves
(a) Revenge

(b) Anger

(c) Passion

(d) Disagreement .

A plane left 30 minutes later than the
scheduled time and in order to reach its
destination 1500 km away in time it has

to increase its speed by 250 km/h from
its usual speed. The usual speed is

(a) 500 km/h
(b) 600 km/h ,
(c) 750 km/h
(d) 900 km/h

Creative problem solving is associated
with

(@) Convergent thinking

(b) Group think

(c) Active listening

(d) Divergent thinking

If %, y, z are positive integers such that
X:y=1:2andy:z=3:5, then which
one of the following will be possible value
of 5x -3y +2z7?

(@) 180
(c) 196 »

(b) 190
(d) 200

In problem solving the present
information is converted into

(a) mental temperament
(b) mental background
(c) external mental representation

(d) internal mental representation

41,

42.

43.

44,

45,
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forame wia wmfia w2
(a) wfeeny

(b) wa

(c) I3

(d) wavrg

T agaH 3 Fuifa ama & 30 fime 30 2
31 3T 1500 6.7, g2 3 riaem gma @
wﬁaﬁ%mmﬁtﬁﬁanﬁﬁzso%m/d
T g § | Fuffa nfa 2

(a) 500 .. /4,

(b) 600 f.5. /4.

(c) 750 .. /4,

(d) 900 f&.4. /4.

YSHTHS THE I G faq &
(a) I o @

(b) T W &

(c) T aor &

(d) 7Er o= @

e x, y, z YA QUi 30 W S R x:iy=1:2
Wy:z=23:5,a =i § 3 $x-w
5x - 3y + z %1 GEWS WH €M 7
() 180 (b) 190
(c) 196 (d) 200

THEI GHIYTA 8 G0 ST &1 wuaia B
ST 8

(a) TR faawanfa o

(b) Ty geavfir i

(c) smer wrafees wfafaftreg o

(d) tTafts At wfafifieg §
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46. Ifthe day before yesterday was Saturday,
what day will be on the day after
tomorrow ?

(a) Friday

(b) Thursday

(c) Wednesday ~
(d) Tuesday

47. Which of the following is NOT an obstacle
in mindful listening ?

(a) prejudgement

(b) dual perspective

(c) message overload

(d) message complexity

48. Count the triangles in the following
diagram and find the correct answer.

(2) 14 (b) 18

(c) 16 (d) 20

49. Pointing towards a person, a man said
to a woman “His mother is the only
daughter of your father”. How is the
woman related to that person ?

(a) sister

(b) wife

(c) mother «

(d) daughter

SMRN-2 - 21

46. a2 1 et oh Teel 1 A R o, @t @ A
&l % a1 HA-a1 f&= g ?
(a) AT
(b) TraR
(c) gHan
(d) HTErEar

Frafafiga & & =5 gaaq yau d s i 8 7
(a) gefola

(b) f& gfamtor

(c) Hew Afaam

(d) e sifeerar

47.

48. frafaRas Tt # St i omn $ifte @

el I T Hifsg |

(b) 18
(d) 20

QR - 3l gkt R e gt 3 1
ngrﬂwaqﬁerﬁmmmﬁm%?
(a) s&a

(b) g
(c) \ran

(d) Tt
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52.

33.

A

With reference to decision making,
which statement(s) is/are correct ?

1. Human rationality is limited.
2. Any individual can improve his
decision making through practice.

Select the correct answer using the
codes given below.
Codes :

(@) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correct

(d) Neither 1 nor 2 is correct

Which one of the following model

emphasizes on the dynamism of
interpersonal communication ?

(a) Linear model

(b) Interactive model

(c) Transactional model
(d) None of the above

The correct word in place of ‘?’in
FISH : CLPK : : NOSE 1 ?is

(a) KPLC
(b) LKCP
(c) KLPC
(d) KRPH »

In the context of decision making

Personal probabilities are commonly
referred to ag

(@) Social probabilities
(b) Adjustable probabilities
() Subjective probabilities

(d) Non-functional probabilities

-9

at.

52.

53,
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Hiferg
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(a) Faet 1 G B
PDEEEPEGE

(c) 132wt &
dATM1AG26d2

Trfafaa § @ - wfese sadafEas oo
= TRl 9T & AT 2 ¢

(a) et witeg

(b) 37a:fraTerss wftey
(c) FaER wiaey

(d) 3w # ¥ =S T

FISH : CLPK : : NOSE : ? §
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(a) KPLC

(b) LKCP

(c) KLPC

(d) KRPH

Frofar O % wieel #, s wemregaati |
ST 9 gt Sirar @

(a) i gesegan
(b) EHTST wesr=En
(c) 3Hrenfyes gesraaan
(d) srv=rmatens: weyTerar
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Choose the pair in which words are
differently related.

() Crime : Punishment

(b) Judgement : Advocacy .
(c) Enterprise : Success

(d) Exercise : Health

The most frequently cited source of
interpersonal conflict is

(a) Organizational norms

(b) Poor communication

(c) Structural configuration

(d) Social pressure

By arranging the following words

according to the English dictionary, find
the third word.

Queasy, Queen, Quality, Question,
Quarter

(@) Quality

(b) Queasy -
(¢) Quarter

(d) Queen

The following table shows the distribution
of weekly salary (in %) of 1000 workers :

Weekly Salary No. of Workers

Less than 50 40

51-175 120 -

76 - 100 200 -

101 - 125 300 -
126 - 150 150
151 -175 100
176 - 200 55
201 and above 35

The percentage of workers with weekly
salary less than and upto ¥ 125 is

(a) 81 (b) 66 »
(c) 34 (d) 19

54

55

56

57

-10-
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QU T | TRl g 1 wgw IR |
() 39Uy : T

(b) fvia : TeTer

(c) STW : FFeraT

(d) =O@m : |y

Siaafaes G H gad 1 33ya A 8
(a) TTATHS HHE

(b) FHSIT FE0T

(c) EraTeHes fa=am|

(d) sl gamE

frfofea w=at st weewy & argeEm
SR T AT 753 W g |

Queasy, Queen, Quality, Question,
Quarter

(a) Quality
(c) Quarter

(b) Queasy
(d) Queen

= wmeft 1000 FdefEt 3 wrfes 399 &

o =t (2 #) weftfa st 2
ATETfEw A HHATET &Y &
50 ¥ ¥ 40
S51-75 120
76 - 100 200
101 - 125 300
126 - 150 150
151 -175 100
176 - 200 55 |
201 3 arfir 35
¥ 125 @ %W 991 ¥ 125 9 wrearfes 3 T
e i w5t 2
(a) 81 (b) 66
(c) 34 (d) 19
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58. Use of analogy in problem solving means

59.

60.

(a) application of techniques that were
used in the past similar situations e

(b) importance of escalation of
commitment

(c) elucidating

(d) uncertainty of techniques

In an examination, the distribution of
marks obtained by 30 students is given
in the following table :

Marks
(Class Interval)

10 - 25
25-40
40 - 55

No. of Students

55— 70

70 -85

()] O N W N

85-100

The mode of the data is
(a) 50
(b) 52
(c) 54
(d) 55

If the ratio of the outer and inner
pPerimeters of a circular pathis 23:22 and

the path is 5 m wide, then the diameter
of the inner circle will be

(@) 55 m

(b) 110 m
(c) 220 m
(d) 230 m

11

10

58.

59.

60.
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T GHIYT § HIGRIAT 1 39907 9 8

(a) TEF1RT =1 S1graT Rt 3w Rroeh
g uftfeufoat # foran mar o

(b) wrargan Y 9fs =1 weea

(c) E5ZT

(d) Terfrant st srfAfeRraa

Torelt wlterr 3 30 Rrenfifat zr wrea £53 3 ot
1 weq Fraferfiaa aroft § farm 2

T Teh
(at siatrer)
10-25

farenfiiai < g

25-40

40 - 55

55-170

70 - 85

85 -100

olo|lo|N]|w|N

T A6 1 TgTH B
(a) 50
(b) 52
(c) 54
(d) 55

AR G g < e e st e
I 23 : 22 A qur AW 5 0, ), @
ST T 1 =g €y

(a) 55,

(b) 110 .
(c) 220 Ht.
(d) 230 =,



With reference to the interpersonal
communication in organizations,

which of the following statements is/are
correct ?

1. An efficient communication is not
always effective.

2. An effective communication is not
always efficient.

Select the correct answer using the
codes given below :

Codes :

(2) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

62. SevenpolesP, Q, R, S, T, Uand V are put

in such a way that the distance between
the next two decreases by 1 metre. The
distance between the first two poles P
and Q is 10 metres. What is the distance
between first pole P and the last pole V ?

(a) 42 metre

(b) 45 metre »

(c) 48 metre

(d) 50 metre

63. ABC is a triangle in which AB = 3 cm,
BC =4 cmand £B = 90°, The circle with
diameter AB intersects AC at D and
tangent to the circle at D intersects BC
at E. Then EC is equal to

(@) 1.8 cm

(b) 2.0 cm

(c) 2.5cm

(d) 3.0 cm

SMRN-2 -,

61, el i Saaata Qe wa i fimp
HY -ar /A FEF TR R/ 7
1. U q& GEIYOT Tad ST T e g |
0. T W TENTO Hod 28 T B d |
<frey o 7 o o AT R T S T i
T4
(a) Fae 1 FET R
(b) Teet 2 TE R
(c) 1 32 el adl &
(@71 RTE 2w E

62. MAE@N P, Q,R, S, T, UAN V 39 ¥am ¢

mﬁnﬁ%%ma@tﬁ%a‘\azﬁqﬁlm
F Bl St § | TgS A @ey patk Q F o E
T 107 R | vzt @ paw s @s vy
e fereeft i & 2

(a) 42 diex

(b) 45 fiex

(c) 48 Hiex

(d) S0 Hrex

03. ABCwH Y, R AR « 3 dx, BC =484

™1 £B = 90° | =m0 AB aret gg ACH D@

IR T Y 3 g ) D e B

W B R IR e & | ¥ EC wat 8
(@) 1.8 F ufy.

(b) 2.0 ¥ 1
(©) 2.5 F 1t

(d) 3.0 ¥ 1f.

-12.

11
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64.

65.

66.

67.

68.

Communication among members of the
same group is

(a) downward communication
(b) lateral communication

(c) optimum communication
(d) upward communication

Duma’is related to ‘Russia’in the same
way as ‘Shora’ is related to

(a) Afghanistan
(b) Germany
(c) France
(d) Malaysia
& s £ 2

.’
borp LA N
If the code for TALENT is XEPIRX, how

will you code SEARCH ?
(a) WEDVGL

(b) WFDUGL

(c) WGEVGL

(d) WIEVGL .

Purposely manipulating information in
communication process is called

(a) Filtering
(b) Assertiveness
(c) Deviance

(d) Abstraction

Ifin a code language PAINT is written as
74128 and EXCEL as 93596, then how
Will ACCEPT be written in that code ?

(a) 455978 « (b) 544978
(c) 554978 (d) 733961

64.

65.

66.

67.

68.

-13-

12
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T TR % w3 He e
() STHITHY TR

BIRUSEEE: Ik

(c) =aH TEyoy

(d) et ey

AT TR EG A I wER R oy
T 1 ey R

(@) AEMiEE &

(b) s+t &

(c) | &

(d) Tl &

AR TALENT 1 %2 XEPIRX &, q 3179
SEARCH &t 3% %e 3 foa 7

(a) WEDVGL
(b) WFDUGL
(c) WGEVGL
(d) WIEVGL

FESOT i # FEAT Y ST R- e,
FHEATT B

(a) Frerem
(b) gEaTaTHT
(c) Foraem
(d) srgghan

it forelt 52 s & PAINT Y 74128 Rrar
ST @ 3 EXCEL %t 93596 a i, I g

ACCEPT @ 8@ forar smam ?
(a) 455978 (b) 544978
(c) 554978 (d) 733961
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70.

71.

T2

Sonia sold an article at a gain of 16%.
If she had bought at 4% less and sold
it for ¥ 8 more, she would have gained
25%. The cost price of the article was

(a) T 225
(b) T 200 4
(c) T 250
(d) T 220

‘Sleeping on a problem’ is a form of

(a) Abstraction
(b) Emotional instability
(c) Incubation

(d) Passiveness

In a survey of 60 people, it was found
that 25 people read newspaper H,
26 read newspaper T, 26 read newspaper
I, 9 read both H and I, 11 read both H
and T, 8 read both T and I and 3 read
all the three. The number of people, who
read exactly one newspaper, is

(a) 21
(b) 25
(c) 30
(d) 52 .

If 4’ means ¢, " means +, ‘X’ means “+'
and “’ means “’, then which one of the
following equations is correct ?

(@) 18+6-4%x2+3=26 ,
(b) 18+6+4-2+3=22
() 18-6x7+2+8=63
(d) 18x6-4+7x8=47

SMRN-2 - 21

69. BT Y Uk a%q 16% o WA | af 367 74
4% o9 T @i gran 3 T 8 Jfireh A g,
W IW 25% o Trerar | a%g =1 5T qed o1
(a) T 225
(b) % 200
(c) T 250
(d) % 220

70. ‘omEn gt g’ U TER 2

() SFCHaT 1
(b) HamTeHeR fEeRET &

(c) 3gWaA
(d) s =

71. 60 safFw % A ¥ grn o 5 25 =
FHERTT H 98d §, 26 TH=RGS T 9ad §,
26 WHTERTA | 9 ¥, 9 ¥M1 H 3R [ ved &,
11aﬁHaﬂth¢%§, 8 31 T 3R I wga &
7 3 Jxft ofii wed € | safrdt A v, S daw
T HHTERIS 954 §, &
(a) 21
(b) 25
(c) 30
(d) 52

72, 3¢ 4 gy arf X, U e w0 o gy ared 4

T R, R refifag gt |
A -1 e R 7

(a) 18+6_4x2+3___26
(b) 18+6+4_2+3=22
(c) 18-—6x7+2+8___63
(d) 18><(5__4+7)(8=47
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74.

75.

73.

Communication will be effective, if it is
(a) delivered slowly and clearly

(b) delivered using appropriate media
(c) received as intended by the sender,

(d) received immediately

Which option is/are to be followed ?

Statements : Some fruits are flowers.
No flower is a boat.
All boats are rivers.

Conclusion : I. Some fruits are rivers.

[I. Some rivers are boats.*

[11. Some rivers are fruits.

IV. Some flowers are fruits, -~

Codes :

(2) Only I and III follow
(b) Only II and III follow
(c) Only II and IV follow »
(d) None of the above

The median of the following distribution
is 28.5, the values of x and y are
respectively

Class Interval | Frequency
0-10 5
10 - 20 X
20-30 20
30 - 40 15
40 - 50 y
50 - 60 5
where the total frequency is 60
(@) 6,9 (b) 9,6
(©) 7,8 (d) 8,7

73.

-15.
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74.

75.

SMRN-2 - 21

Fam wwreh g, ol ug

() it o T w9 @ e

(b) Sugaa wIegR T Igdm & faa s
(c) e BT 3fea w9 # e R s
(d) weshTer ST fopan <t

g forepea = srge R sman /2 7
FUA: FOFAGAS |
1§ Fel 9 A © |
gt A T €
frerd : 1. FEFATNR |
1. $o AR € |
1. Fo R s € |
IV, 9§ 5 § |
He
(@) ST 1 WY 111 Wi B §
(b) et 11 Tt 111 FafE g &
(c) e 11 iR IV argafa 8§ €

(d) Iugaa # & g 7l

2 R RA M Fea s aegs 28.5 7, d x 3N
y % W A ©

Tt e THETAT
0-10 S
10-20 %
20 - 30 20
30 - 40 15
40 - 50 y
50 - 60 5

el el THEr 60 &
(a) 6,9
(c) 7,8

(b) 9, 6
(d) 8,7
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76. At what rate of compound interest per

.

78.

79.

annum will a sum of ¥ 1,200 becomes
X1,348.32in 2 years ?

(a) 4%

(b) 3%

(c) 6% »

(d) 5%

Communication that saves time
and facilitates co-ordination in an
organization is called

(a) neutral communication
(b) upward communication
(c) lateral communication

(d) downward communication

If ABC is an isosceles triangle with
AB = AC. E and F are points on BC and
AC respectively such that AE = AF. If
£ZBAE = 40°, then ZFEC is equal to

(a) 10°
(b) 20° =
(c) 25°
(d) 40°

Which one of the following word can
NOT be formed using the letters of the
word ‘PROFESSIONAL’ ?

(a) PASSION
(b) FINAL

(c) NORMAL «
(d) LESSION

SMRN-2 - 2

76. T e Twale s #t @ @ T 1,200 @

yrfyr 2 a6 # € 1,348.32 & S¢di ?
(a) 4%
(b) 3%
(c) 6%
(d) 5%

77 gEu S FRE @ra o Geg a9 ¢ 3R

78.

79,

-16.
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Y=g ) Fe STl 8, Fe ¢
(a) TeES TEIOT

(b) FeTrHt FEmOT

(c) TTfYeler TSmOy

(d) rETIrHY TS

aid ABC & wnfzarg B @, i AB = AC.
E 3t F AW: BC M AC @ fag € 5
AE = AF | 3it ZBAE = 40°, @ ZFEC sU% ¢
(@) 10°
(b) 20°
(c) 25°
(d) 40°

PROFESSIONAL’ ¥rs3 % ayerdt @ Frefiafisd
ﬁ@ﬂh—m@mqﬁmmm% !
(a) PASSION

(b) FINAL
(c) NORMAL
(d) LEsSION



80. Which one of the following is NOT
included in paralanguage ?
(a) Voice quality
(b) Verbal interaction
(c) Speech rate
(d) Pitch

81. Ifa+b+c =3, the value of
(1-a3+(1-b3+(1-¢3-3(1-a)
(1-b)(1-c¢)is
(a) 27
(b) 8
(c) 1
(d) O+

82. After watching a football match between
two parallel teams, person insists that
he beforehand knew that the particular
team (winner team) was going to win.
This is an example of

(a) Group think
(b) Subliminal problem solving
(c) False consensus effect

(d) Hindsight bias

83. When a polynomial P(x) is divided by

(x-1) and (x - 2) it leayes remainders 5
and 7 respectively. What is the remainder
when p(x) is divided by (x-1)(x-2)?
(@) 2x + 1

(b) 2x -1

(c) 2x-3

(d) 2x + 3

80.

81.

-17.
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82.

83.
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Frerferfad 3 & F-am e o (odae) #
afefoaadie ?

(a) SATETST UTEl

(b) wtftaes ata:fman

(c) aT; T

(d) TEH

axa+b+c=3,
1-a3+(1-b2+(1-¢c3-3(1-a)
(1-b)(1-c)FAFS

(a) 27

(b) 8

(c) 1

(d) o

A TR At F s O Geare B 3w ¥ A
T ST SR 39 el & T 92 veat & S o
for fordiw 2w (st m) S ahi ot 12 o
ISR B

(a) g W

(b) =T TR GRIUT

(c) IRl waT wore =t

(d) uv= g armfy o

S Rl wgwR pix) @ (x - 1) 3N (x-2) A

forsman @, @ Qv s 505 7 s
5 |trm‘rerqrﬁar&rnw;)(x)aﬁ(x— 1) (x-2)
& fonfra R smom 2

(a) 2x + 1
(b) 2x -1
(c) 2x-3
(d) 2x + 3
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84. What will be the minimum value of X
for which the number (3 (x+63)+ 640} is
completely divisible by 17 ?

(a) 82
(b) 24
(c) 7 »
(d) 3

85. If a person attempt to solve a problem

on the basis of his past experience, it is
called

(a) functional fixedness
(b) mental set

(c) transfer effect

(d) confirmation bias »

86. Arrange the following in correct order.

1. Chest 2. Forehead
3. Stomach 4, Ear
5. Leg 6. Chin

(2) 1,2,4,6,3,5
b) 2,4,6,1,3,5
(¢) 5,4,2,6,1,3
d 1,4,2,3,6,5

Which one of the following is a version of
‘divide-and-conquer strategy’in problem

solving ?

(a) Analogy

(b) Trial and error

(c) Means-end analysis
(d) Hypothesis testing

87.

17

SMRN-2 - ;.

” mewammﬁam
{3(x+63)+640}'iﬁm 17 & fofom 3 -
(a) 82
(b) 24
(c) 7
(d) 3

g5, af v s e @ o T S i
3 SR T 0 T AT 8, AT I FT
(a) ST e
(b) A o=
(c) I=Tor F9Td
(d) gfeeRtor qaraTa

86. Trifera =t @t argen & =aafea i |
1. BT 2. HdR
3. % 4. 1
5. % 6. I

(@) 1,2,4,6,3,5
(b) 2,4,6,1, 3,5
() 5,4,2,6,1, 3
d 1,4,2,3,6,5

87. - Freafafe 3 Q o - e g it R
T Sl SRR g1 e &
() Wrgeaan
(b) REERC 7]
(c) A -T1e7 frgdrgor
(d) wftFegar gite
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88. Choose the pair of numbers which is
different from others.

(@) 14, 12 (b) 28, 6
©) 34, 6 (d) 42, 4

89. According to ‘Communication as mutual

transaction model’, interaction between
people is

(a) interpretive

(b) interactive

(c) simultaneous

(d) sirnultaneously interactive

90.

shadow fell exactly towards Jeft hand side.
Which direction was Sohan’s face ?r
(a) East \

L)
(b) West

s
N

(¢) North v

(d) South -

91. The sum of

deviations of a set of
observations,

X Xy, ..., Xn Measured
from 50 is — 10 and the Sum of deviations
from 46 ig 70, then the Number of
observations is

(@) 40

(b) 30
(c) 20
(d) 10

92.

an excursion through
(@) Menta] fixedness
(b) Responge fixedness
(¢) Problem space

(d) Active pers pective

18

88.

89.

90.

91.

92,

SMRN-2 - 21
HEH F DR S v @ e d |
(a) 14, 12 (b) 28,6
(c) 34, 6 (d) 42, 4

"I -3 3w w3 orEw,

(a) =ATEETHS

(b) 3@ Firaenas

(c) TERmElyH

(d) W&ot o7 Rrarers

T H R O Gerw e AN Ee G T o
TR A s gy | 9E 0 o 3 S

W@t%@%lmwﬁzﬁmﬁmﬁ%?
(a)

(b) ufvam

(c) 3™

(d) 3feqor

it & wg 1 X e X, W50 Ry
forerert am gy 10%&146%%&@1%?1@
1 70%,63&@@#@:%

(a) 40

(b) 30

(€) 20

(d) 10

mmmmwrm Aart wg T W
(@) WAl T & e

(b) 3ty T & e

(c) HVR]TQ&QTQFWWW'@

(d) ®fg TREY & wregm
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93. A, Band C can do a work in 20, 30 and

94.

A

95.

96.

a97.

60 days respectively. In how many days
can A complete the work, if he is assisted
by B and C on every third day ?

(a) 12

(b) 15

(c) 16

(d) 18

Which one of the following is a basic

method of effecting behavioural change ?
(a) Communication

(b) Recording
(c) Optimal rest
(d) Rhythmic evaluation

How many numbers from 1 to 100 are
there each of w

hich is not only exactly
divisible by 4 but also has 4 as a digijt ?
(a) T » ) '
(b) 10
(c) 20
(d) 21

Find the wrong number in th
series :

. foﬁowing
7,28, 63, 124, 215,342, 511
(@) 7 (b) 28 »

(c) 124 (d) 215

Which one of the following is NOT o way
of thinking in order to solve problems ?
(a) Algorithm

(b) Trial and error

(c) Heuristics

LY

(d) Anagrams

94.

95.

96.

97.

-20.

19
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93. A, B 3 C e T B FH: 20, 30 oy ¢,

e, A R B
(a) 12
(b) 15
(c) 16
(d) 18

frforfaa § & sgaER aiEds &t wwifaa w3 6
auTe@ Wity RA-d@ R ?

(a) TEIUT

(b) stfirerEs

(c) geam fasm

(d) T e

1 4o 100 7 i forerft Gemi E 7 3w 4 2
tghmﬁmﬁaﬁa%ﬁaﬁa.maianﬂa?
(@) 7

(b) 10

(c) 20

(d) 21
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08. Statement : Should only one company

99.

R

100.

be allowed to run the transport system
in a big city ?
Arguments :

I. Yes. This will put an end to unhealthy
competition among different
companies.

II. No. The travellers should be given
a wider choice of transport system.

Which of the above argument(s) is/are
strong ?

Answer with the help of codes given
below :

Codes :

(a) Only argument I is strong

(b) Only argument II is strong

(c) Both arguments I and II are strong

(d) Neither argument I nor argument Il
is strong

Choose the odd one among the following.
(a) 15t August

(b) 26™ November

(c) 14 November 4

(d) 26t January

Feedback is used to effectively manage

behaviour and improve performance. It
is a form of

(a) mass communication
(b) informal communication
(c) interpersonal communication

(d) group communication

99.

100.
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98. wud ; ¥ fFd 92 T H Fad & FE

TATETd SATEIT hl T Y STFAT 41 =iy ?

qeh

1. & | 3o fafir= et 3 oo Snareh
areaey whequt 1 3= B S |

1. &1 | Tt = FraraTa SFan % 9 s
ATE 3T BT 91 |

I9gFd d% H HIA-W1/8 T wIEd 2/2 7

frafafiaa e & smum w 3w difs |

HE

() ee Teh 1G9 ©

(b) Sheret ek 11 G &

(c) 21 ek 1 3T 11 e @

(d) & ek 1 3= € ek 11 g 2

Freaferfiaa # & svema = |
(a) 15 3rTE
(b) 26 TR
(c) 14 Faw
(d) 26 S

wiagfee (Sreerr 31) e w9 & sgaEn F e
T SHTIRTCTa 1 sig 3 W BT § | 98 WER &
(a) S TEIYOT

(b) i wwor s
(c) Sradufaren TriwoT
(d) EE |eyoT
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